



Tên: \_\_\_\_\_

Ngày tháng: \_\_\_\_\_ Điểm: \_\_\_\_\_

$$(-2)^2 + 2 =$$

$$9^{(-1)} + (-6) =$$

$$8^2 + (-5) =$$

$$(-6)^{(-1)} - (-6) =$$

$$(-3)^{(-2)} + (-4) =$$

$$2^2 + (-10) =$$

$$6 - 4 =$$

$$(-1)^2 - 4 =$$

$$1^{(-1)} + (-3) =$$

$$(-4) + (-5) =$$

$$(-7)^2 - 5 =$$

$$(-6)^2 - (-9) =$$

$$(-1)^{(-1)} - (-2) =$$

$$10^2 - 1 =$$

$$5^{(-2)} + 1 =$$

$$(-5)^{(-2)} + 7 =$$

$$(-8)^2 + (-10) =$$

$$3^2 - (-5) =$$

$$5^2 + (-8) =$$

$$6^{(-2)} + 3 =$$



Tên: \_\_\_\_\_

Ngày tháng: \_\_\_\_\_ Điểm: \_\_\_\_\_

$$(-2)^2 + 2 = 6$$

$$9^{(-1)} + (-6) = \left(-\frac{53}{9}\right) = \left(-5\frac{8}{9}\right)$$

$$8^2 + (-5) = 59$$

$$(-6)^{(-1)} - (-6) = \frac{35}{6} = 5\frac{5}{6}$$

$$(-3)^{(-2)} + (-4) = \left(-\frac{35}{9}\right) = \left(-3\frac{8}{9}\right)$$

$$2^2 + (-10) = (-6)$$

$$6 - 4 = 2$$

$$(-1)^2 - 4 = (-3)$$

$$1^{(-1)} + (-3) = (-2)$$

$$(-4) + (-5) = (-9)$$

$$(-7)^2 - 5 = 44$$

$$(-6)^2 - (-9) = 45$$

$$(-1)^{(-1)} - (-2) = 1$$

$$10^2 - 1 = 99$$

$$5^{(-2)} + 1 = \frac{26}{25} = 1\frac{1}{25}$$

$$(-5)^{(-2)} + 7 = \frac{176}{25} = 7\frac{1}{25}$$

$$(-8)^2 + (-10) = 54$$

$$3^2 - (-5) = 14$$

$$5^2 + (-8) = 17$$

$$6^{(-2)} + 3 = \frac{109}{36} = 3\frac{1}{36}$$